SMAFEEERTAGTSYY F1ERELAE
[$F144 1186 HEM]
INEEDER 1 km (NE1~455)

& 4L K £ =S 5
1 R BEXER B EF/ 3’ 527
2 m Bk # F B EF/ 4 027
3 = B AARF B/ 4 04"

INBEDE 1. 5km (/MNES - 6 F4E)

I§ 1L K £ = i &%
1 B H E # BRI 5 30”
2 THE e FEIKI 6’ 05”
3 B B % W Je /s 6’ 41”

hee4 B F DR 3 km

& 4L K £ =S 0 &%
1 T B & A ¥ Errh 9’ 50”
2 B2 XK & 3 EER 9’ 50”
3 X H HEL Xl 10" 22”

RS ZFDER 3 km

I§ 1L K £ = i &%
1 T A& b =B EJi5 11" 54”7
2 I\ TR > INEs R 12 14”
3 m B F X EER 12’ 15”

—fEDE 5km (BF)

& 4L K £ & EV
1 % M # & M IR 15’ 01”
2 X B e HiES 16" 14”
3 ¥ B O o BEARM A 16’ 177

—fBDES5km (ZF)

I§ 1L K £ R i &%
1 & & M WEX 177 03”
2 Bl & X & NEPN 19’ 26”
3 = B H WEX 19’ 46”




